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(i) WU FH F7 &I 185 a% 3lad TY-FF0T FHR & J97 &, T 97 2 371 H7
& | I9% J97 %7 3T 40 Yec] & 371e% 787 5147 =0 |

(iii) TUE @ 7 97 G&IT 6 T 8 T% TY-IH1T FHR & F97 &, T4 J97 3 37H H7
& | I 97 &7 I 80 VsG] & 3714 78] &7 =ieT |

(iv) TUE T F Jo7 &IT 9 3N 10 FF-FRT IPR & J97 5, Id% 97 5 bl H7
g | Jc9% F97 & I 120 V=51 & 37fere 7&1 &7 Fizw |
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(i) WIS F H J57 G&IT 13 FHIEF-3TERT & | T8 F97 3 371 &1 & faas 31 91 & -
13 (%) slaz/@ @ (1 37%) o7 13 (@) T @ (2 37%) |

(vii) F¥9-Y7 4TI W FIE fdHcy 78 8 | a9, FF I § SaR® [Heey 3T 7Y
g 1 08 3997 7 @ &aer vk &1 fasboq &7 I oafaw |

(viii) T &1 3791 ITR-JI&TH & Grd o BT |

Lusg h

(3t eg 3T ued) (5x2=10)

1. 9T A9l 3R a3 "ioaa 3T A & guedd = foRar 2
e iU | 2
2. X H UNEET & H1UH o ®Y H YTSUATS o HE hl TG hifoT | 2
3. YA 4 JgeAd Sl I TS ? T HIWT | 2
4. ‘AhT ST Tohd TehT HGT h1 HE@Ul A& 7 ? 2
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises five sections — Sections A, B, C, D and E.

There are 13 questions in the question paper. All questions are compulsory.

(it)  Section A — Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

(iti) Section B — Questions no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C — Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

(vi) Section E — Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)

1. Why did Indian merchants and industrialists support the Civil

Disobedience Movement ? Explain. 2
2. Examine the significance of pipeline as a means of transportation in the

country. 2
3. Why has India adopted a multi-party system ? Explain. 2
4, How is ‘Demand Deposit’ an essential feature of money ? 2
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(5.1) o fafwior o fofU STeeeh YR 9t H-41 7 2 1
(5.2) I JTN § Yo HaL T Th G180 ST, | 1
Qg @
(erg -3 ue ) (3x3=9)
6. (%) HU % MU=Tiep 3R Fu=ies didl # Fd T FHifTy | 3
JAqaT
(@) o, foxia Jomelt & T ol U o &9 § fhd TR SR AT 8 ? T
hifoTe | 3

7. ‘oot TS qgEE Wl ged 3 31U Hdid H TiRE 1 WiE 91 i % g
Al O I = H W@ F&0 91 |7 ARG %k HeH H 39 AT hl gfe

HIT | 3
8. WA H TSI gall < TSIehtul R WAl H TG TN hi fHehT i TIC
T | 3
Qus 1
(Srdswd Ted) (2x5=10)
9. (&) “clrpad wmEd, I sgaensti (fashedi) @ S8R 2 17 39 HAT HI
forweryor HifS | 5
HAAAT
(@) ¥ g o dlehad o fo=R % fu 9 awe o wRon w1 favey
HT | 5
10. (F) 37 HEH Hl WG HIC N IRG T TR0 ! TedTd A T TEH
qd | 5
HAAAT
(@) Wearehd Hife foh fohg TR dvelletor 4 =9 Tl o Siad &l JuTfad
ERIE 5
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5. Study the given flowchart and answer the questions that follow :

Fibre s et Weaving
Production P g Knitting

. Garment
manufacture

Dyeing and
Finishing

(5.1) Which is the basic material required for garment manufacturing ? 1
(5.2) Give one example of value addition in the textile industry. 1
SECTION B
(Short-Answer Type Questions) (3x3=9)
6. (a)  Differentiate between formal and informal sources of Credit. 3
OR
(b) How does a bank work as a key component of the financial
system ? Explain. 3
7. “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3
8. Explain the role of Election Commission in the ‘registration and
recognition’ of political parties in India. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
9. (a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5
10. (a) Examine the factors which facilitate globalization in India. 5
OR
(b)  Assess, how globalization has touched the lives of larger society. 5
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Lus ¥
(ha-TeTiE 99 ) (2x4=8)
11. = fCu U g i eamgdes qfeu it 3ueh i fu e wwAi o I ffen 4
Tadaan feaw 6 yae, 26 Jad, 1930

‘T favara g T fordlt off wome ht o v SHar =1 off I8 & eTsuiy
(inalienable) AfIHR 7 foh 37 AE fired, 19t T 1 wat et R Sfiam
&1 Tt srrevIeRard gt g e 3 I wed & ufiqul sreE firdd | guwT U8
ft fogam 3 fop afe 8 Y Ter A9 ST =1 31 ARl & dfvd WEd! 8
3T gETcht g a1 a1 ol it TR i 9ga AT IW T THIE H Hl AR
2 | wra # fafew (foamit) wer 3 9 Shaa aRdT a1 1 Tadadr 4t
fordT 8 dfces ITF SHAT o1 WU foham 8 SR o9 w1 affsies, TeHlfdes,
TR T 3TeTfoeh & X A8 L fean B | gafo gam favamE 2 fo And
HI AMEE €9 ° 5T o WY 4T It HE4l Sl FHE ST IO TS T

T =Ry |

(11.1) Il sl AR AT o1 TR JATRR T /HT =T 2

(11.2) WRd % AN gRT qUT TGS i 3@ FIT /AT T 2 1
(11.3) HiIH & ATBR EAIE (1930) % T h! SARSAT hHIfVT | 2

12. < QU U g i eamgdes dqfeu ot Iues e fou e ywAi o 3 fafen 4

T areferaeen 6 Sfra ward

95d GHY q% IR AT UREEd giadr T HifHd &9 a% & foham S
of | fagm qen Wenfieht < fashm & w19 =R 9 qiEs o JwE & § fowga
I3 3 7 | T&W I i Tl aTel IEET ¥ o HER TS S¢ g § uiafda &
T 2 | UReET 1 I8 faeh ger el o faehrE il geEdr @ & ava 8 gehl
8 | sEifeTy uieed, JeR o ST Ush-gil o I3 2 |

AN YA 94 fammed oteRw, fafagarsti, wwre qem gl 9 H@fﬁ@
a@mﬁ%ww%w%ﬁwwﬁg@gw%ﬁa Iy @
S ieRd, EHERE, edl, giesH, W qun gewe, snfe sEes
graTTeh-3TT{Yh lolehlaﬁ:ﬂdeh YR O TEFh 3 | TIHh T AT T
IR < JHAGEAT Sl e MRk & 8 | $94 AR o hl g foham & el
IRMERI Sitad o fau glaenett 3 @rgat o sgrad i 2 |

(12.1) ufEgd o fasm 4 fagm o TR T Agqul S & ? 1

Qe Page 6 32/1/1

Get More Learning Materials Here : & @ @&\ www.studentbro.in



EE
I

SECTION D
(Case-based questions) (2x4=8)
11. Read the case given below carefully and answer the questions that follow : 4

The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(11.1) Why was freedom considered an inalienable right of the Indian
people ? 1

(11.2) Why was Purna Swaraj considered essential by the people of
India ? 1

(11.3) Explain the significance of the Lahore Session of Congress (1930). 2

12. Read the case given below carefully and answer the questions that follow : 4
Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(12.1) How is science an important factor in the development of
transport ? 1
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(12.2) HHEINH o HEhideh Igadl sl qiasd fhE ThR Thihd Hdl 8 ?

e HIfT |
(12.3) et g & fofw =R & Hew o1 fagamor v | 2
Qg T
(arf-smenfa wea) (1+2=3)

13. (i) fou MU wRa % TorHifae W@I-AHtEE (98 11 W), ¥ Fefafad e
& TEEA ¥ ‘A’ B9 § fufed T 1 ugee hIfGu 3 3Tk IE
it 8 T W 3T Fgl A1 fdfgu |

A. 98 T J&l TGH1 o RO TEEINT eI bl I19d for=m T | 1
Gi) feu T wRa & = TraERE w AEfiiaa s sifed hifse v 39

Tm fafey |
(F) @) U ] SA GIF 1
arera
(II) SATE® AT oISl ITeh 1
(@) sfeu wieh st=isda gars == 1
Fie:  REfciRad g9 Fa GIRETaT qhemdat & 077 ¥97 &I 13 & €& T/
g/ 3x1=3
(13.1) 39 Tsa o1 A foiflgu Sret 1927 § vrdia Tda S0g & sifeeyH
7o | 1
(13.2) (%) 38 TSF o1 9 faaRau gt T T et a2 fedrq 2 | 1
Jrra
(@) 38 T 1 99 fafge J8t sieqe areeasR daars ureh e g | 1
(13.3) 39 W& o1 T {aiRau Saf gfeq ieht siqusa gars oo fod 2 | 1
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(12.2) How has transport integrated socio-cultural plurality ? Explain. 1

(12.3) Analyse the significance of communication for a nation.

SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 1

(i1))  On the same given map of India, locate and label the following :

(a) (@D Narora Nuclear Power Plant 1
OR

(I1) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b)  Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 1
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Strictly Confidential: (For Internal and Restricted use only)
Secondary School Term Il Examination, 2022
Marking Scheme — SOCIAL SCIENCE (SUBJECT CODE - 087)
(PAPER CODE - 32/1/1)

General Instructions: -

1. You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2. ‘“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under IPC.”

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and marks be
awarded to them. In class-X, while evaluating two competency based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, marks should be
awarded.

4. The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

5. Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer ‘X” be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

6. If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

7. If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

8. If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

9. No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.
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10. A full scale of marks (example 0-40 marks as given in Question Paper) has to
be used. Please do not hesitate to award full marks if the answer deserves it.

11. Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

12. Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

¢ Wrong totaling of marks awarded on a reply.

¢ Wrong transfer of marks from the inside pages of the answer book to the title page.
¢ \Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying.

¢ Wrong transfer of marks from the answer book to online award list.

¢ Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

13. While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

14. Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

15. The Examiners should acquaint themselves with the guidelines given in the Guidelines for
spot Evaluation before starting the actual evaluation.

16. Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

17. The Board permits candidates to obtain photocopy of the Answer Book on request in an
RTI application and also separately as a part of the re-evaluation process on payment of
the processing charges.
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MARKING SCHEME
Secondary School Examination TERM-II, 2022
SOCIAL SCIENCE (Subject Code—087)

[ Paper Code : 32/1/1]
Maximum Marks : 40

Q. No. EXPECTED ANSWER /VALUE POINTS Marks

SECTION—A 5X2=10
(Very Short Answer Questions )

Why did Indian merchants and industrialists support the Civil | 1x2=2
1. | Disobedience Movement? Explain.

(i) They wanted protection against imports of foreign goods.

(i) They wanted protection against rupee-sterling foreign exchange ratio
to discourage imports.

(ii1) They formed FICCI to organize their business interests.

(iv) They criticised colonial control over the Indian economy

(v) They saw Swaraj to end colonial restrictions on business.

(vi) Any other relevant point

Any two points to be explained [H, PG - 66]
2. | Examine the significance of pipeline transportation in the country. 1X2=2

(1) Initial cost of laying pipelines is high but subsequent running costs
are minimal.

(if) It rules out trans-shipment losses.

(iii) Italso rules out delays.

(iv) These are used for transporting crude oil, petroleum products and
natural gas.

(v)  Solids can also be transported through a pipeline when converted into
slurry.

(vi) Any other relevant point

e Any two points to be examined. [G, PG—85]
3. | Why has India adopted multi-party system? Explain. 1x2=2
(i) Indiais a large country.

(if) It has geographical diversity.
(i) It has social diversity.

(iv) Due to historical reasons.

(v)  Any other relevant point.

e Any two points to be explained [Demo, PG—T77]
4. | How is Demand Deposits an essential features of money? 1x2=2

(i)  The deposits in the bank accounts can be withdrawn on demand.

(i) Demand deposits make it possible to directly settle payments without
the use of cash.

(iii) They constitute money in the modern economy.
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(iv) Any other relevant point

e Any two points to be explained [E, PG—41]

5. | Study the given flow chart and answer the questions that follow.
Fibre Spinnin Weaving Dyeing and Garment
Production P g Knitting Finishing Manufacture

L[Raw Fibre) L[ Yarn | L{ Fabric L{Garments}J

Fig. : Value addition in the textile industry

5.1 | Which is the basic material required for garment manufacturing?
Raw Fibre. 1
5.2 | Give one example of value addition in the textile industry.

Spinning/ Weaving/ Dyeing/ Stitching and Finishing.

(Any other example) 1
1+1=2
SECTION—B 3x3=9
(Short Answer-Type Questions)
(a) Differentiate between formal and informal sources of credit.
6.| (i) Banks and cooperatives are formal sources of credit while the
informal include moneylenders, traders, employers, relatives, friends
etc.
(i) The Reserve Bank of India supervises the functioning of formal
sources of loan whereas no organisation supervises informal sector.
(iii) Formal sources charge nominal rate of interest while Informal
lenders charge a much higher interest on loans.
(iv) Mostly urban households are availing credit from formal lenders
whereas the rural households avail credit from informal lenders.
(v)  Collateral is an essential condition to get loans in the formal sector
while it is not essential in the informal sector.
(vi) Any other relevant point
e Explain any three points of differentiation. [Eco, PG—44,48,49] Ix3=3

Or
(b) How does bank work as a key component of the financial system?

(i)  People hold money as deposits with banks which pay an interest rate
on them. 1x3=3

(i) The major portions of the deposits in banks are used to extend loans.

(ili)) Banks mediate between those who have surplus funds called
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depositors and those who are in need of these funds called borrowers.
(iv)  Banks charge interest rate on loans than what they offer on deposits.
(v)  Banks facilitate different sectors of economy.
(vi)  Any other relevant point

e Any three points to be explained. [Eco, PG—42]

7. | “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India.

(i) ldea of Nationalism was based on the revival of Indian folk lore.

(ii) Folk tales, folk songs and legends were sung by bards.

(ili) Rabindernath Tagore collected ballads, rhymes and myths.

(iv) In Madras, Natesa Shastri published massive four volume collection
of Tamil folk tales (The Folklore of Southern India).

(v) Folklore was considered as manifestation of people’s real thought
and characteristics.

(vi) Many Indian tried to instil a sense of pride in the Indian folk history.

(vii) Any other relevant point.

e Any three points to be explained. 1x3=3

[H, PG-47]

8. | Explain the role of the Election Commission in the’ registration and
recognition’ of political parties in India.

(i) Every party in the country has to register with the Election
commission.
(i)  The commission treats all parties equally.

(iii) Parties are given a unique symbol—only the official candidates of
that party can use that election symbol.

(il1) Parties ‘recognised’ by the Election Commission are called as
recognised political parties.

(iv) The Election Commission recognized political parties in proportion
of votes and seats

(v)  To be recognized as a State party, it should get at least six per cent
of total votes in an election to the Legislative Assembly and wins at
least two seats.

(vi)  To be recognized as a National party, it should get at least six per
cent of total votes in Lok Sabha elctions or Assembly elections in
four states and wins at least four seats in Lok Sabha

(vi) Any other relevant point 1x3=3
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¢ Any three points to be explained

[D, PG—76]

SECTION—C (LONG ANSWER TYPE QUESTIONS) 2x5=10

(@) “Democracy is a better form of government than any other
9. | alternative”. Analyse the statement.

(i)  Promotes equality among citizens

(i)  Enhances the dignity of the individual
(iii) Improves the quality of decision-making
(iv) Provides a method to resolve conflicts

(vi) Allows room to correct mistakes
(vit) Accountable, transparent and legitimate governance.

(iv) Any other relevant point 1X5=5
e Any five points to be analysed.
[D, PG-90]

Or

(b) Analyse the reasons for the overwhelming support for the idea of
democracy all over the world.

(1) Democratic government is peoples’ own government.

(i)  Countries want to elect their representative by themselves.
(iii) Democracy provides dignity and freedom to its citizens.

(iv) Democracy accommodates social diversity.

(v) Democracy is based on the idea of discussion and negotiation.

(vi) Decision-making is based on norms and procedures and its
transparency.

(vii) Any other relevant point
e Any five points to be analysed. 1x5=5
[D, Page—92]

10. | (a) Examine the factors which facilitate globalization in India.

()  Rapid improvement in technology.

(i)  Improvement in Transport.

(iii)  Development of Information and Communication.
(iv)  Movement of goods and services between countries.
(v)  Foreign investment.

(vi)  Working with WTO

(vii) Liberalized policies of the government.
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(viii) Any other relevant point.
e Any five points to be examined.

[Eco, PG — 62 to 64] 1x5=5

OR
(b) Assess, how globalization has touched the lives of larger society.

(i) Local and foreign producers have been of advantage to consumers.
(ii) Globalization resulted in greater competition among producers.
(iii) There is a greater choice before the consumers.
(iv) Larger sections of people enjoy improved quality of life.
(v) Due to globalisation people get lower prices for several products.
(vi) New technology oriented products like cellphone, automobiles,
electronics, softdrinks etc are in the market.
(vii) New job opportunities are there for people.
(viii) Any other relevant point.
e Any five points to be assessed.
[Eco, PG-66]

1x5=5
SECTION—D (SOURCE BASED) 2x4=8

11. | Read the case given below carefully and answer the question that follow :
The Independence Day Pledge, 26 January 1930

““We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth. We
believe also that if any government deprives a people of these rights and
oppresses them, the people have a further right to alter it or to abolish it. The
British Government in India has not only deprived the Indian people of their
freedom but has based itself on the exploitation of the masses, and has ruined
India economically, politically, culturally and spiritually. We believe,
therefore, that India must sever the British connection and attain Purna
Swaraj or Complete Independence.’’ [H, PG-63]

11.1 | Why was freedom considered inalienable right of Indian people?

() Freedom was considered as an inalienable right as it provides full
opportunities of growth.

(i) Any other relevant point. 1

11.2 | Why was Purna Swaraj considered essential by People of India?

(i) The colonial power had ruined India economically, politically,
culturally and spiritually.

(i)  Indians wanted sovereignty and self-govt. or complete independence.
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(ii1)  Any other relevant point. 1

11.3 | Explain the significance of Lahore Session of Congress (1929).

(i) The Congress approved a motion for Complete Independence.

(ii) Congress decided to observe 26th January, 1930 as the total
Independence or Purna Swaraj Day.

(iii)Hoisting of flag.

(iv) Any other relevant point

e Any two points to be explained. 1x2=2 1414224

12. | Read the case given below carefully and answer the questions that follow : 4
Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space. With
the development in science and technology, the area of influence of trade and
transport expanded far and wide. Today, the world has been converted into a
large village with the help of efficient and fast-moving transport. Transport
has been able to achieve this with the help of equally developed
communication system. Therefore, transport, communication and trade are
complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
water- ways, newspapers, radio, television, cinema and internet, etc., have
been contributing to its socio-economic progress in many ways. The trades
from local to international levels have added to the vitality of its economy. It
has enriched our life and added substantially to growing amenities and
facilities for the comforts of life. [G,PG-81]

12.1 | How has science an important factor in the development of transport?

(1)  The trade and transport expanded far and wide.
(ii)  Efficient and fast moving transport.
(iii)  Any other relevant point.
e (Any one point to be explained) 1

12.2 | How has transport integrated socio-cultural plurality?

() Indiais well linked with rest of world.
(i)  Helps in the development of assimilation of cultures.
(iii)  Any other relevant.
e (Any one point to be explained) 1

12.3 | Analyse the significance of communication for a nation.

(i) Itisasource of information.
(if) It enables communication, trade and other forms of exchange.
(iii) It plays an important role in economic growth.
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(iv) It offers social, economic, political and cultural advantages.
(v) It makes the world closer to each other.

(vi) Any other relevant point

. 1+1+42=4
e (Any two points to be analysed)

1x2=2

SECTION—E
( Map Skill-Based Question )

13 | On the given outline Political Map of India, identify the place marked as A
(i) with the help of following information and write its correct name on the line
marked near it.

(A) The place where Non-Cooperation Movement was called off due to
violence. 1

SEE THE ATTACHED MAP

(ii) | On the same given map of India, locate the following :

a. | (i) Narora Nuclear Plant 1
Or

(i1) Bengaluru Software Technology Park

b. | Indira Gandhi International Airport
SEE THE ATTACHED MAP

Note : The following questions are for Visually Impaired Candidates | 3x1=3
only in lieu of Q. No. 13

13.1 | Name the State where the session of Indian National Congress was held in 1
1927—Madras

13.2 | (a.) Name the State where Narora Nuclear Plant is located—Uttar Pradesh 1
OR
(b.) Name the State where Bengaluru Software Technology Park is located. 1
Karnataka
13.3 | Name the city where Indira Gandhi International Airport is located. Delhi 1
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1+2=3
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